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MATHS  FULL -TEST - 2

1. Brindha secures 85%, 86% and 84% marks in the test 

papers with 100, 150 and 200 respectively as maximum 

marks. The percentage of his aggregate is 

gpUe;jh vd;gth; 100> 150 kw;Wk; 200-I mjpfgl;r 

kjpg;ngz;fshff; nfhz;l  Njh;tpy; KiwNa 85%> 

86% kw;Wk; 84% ngw;whh;; vdpy; mthpd; nkhj;j 

Njh;r;rp rjtPjk; vd;d? 

a. 84.88%   b. 72.61% 

c. 64.26%   d. 61.44% 

2. Find the next term: 1, 5, 11, 19, 29, ..... 

mLj;J tUk; vz; ahJ? 1, 5, 11, 19, 29, ..... 

a. 41 b. 43  c. 42  d. 40 

3. A can complete a work in 12 days. B can complete a 

work in 20 days. A and B together work for 3 days 

after that A left the work. B can complete the 

remaining work in 

A  xU Ntiyia 12 ehl;fspy; Kbg;ghh;. mNj 

Ntiyia B> 20 ehl;fspy; Kbg;ghh;. A kw;Wk; B 

Nrh;e;J 3 ehl;fs; Ntiy nra;jgpd; A nrd;W 

tpl;lhh;. kPjp Ntiyia B Kbf;f Njitg;gLk; 

ehl;fs; 

a. 9 days b. 11 days c. 12 days   d. 13 days 

4. The ratio of the volume of a cone, a sphere and a 

cylinder if each has the same radius and same height 

is 

rkkhd Muk; kw;Wk; cauk; cila $k;G> 

Nfhsk;> cUis Mfpatw;wpd; fdmsTfspd; 

tpfpjk; 

a. 1 : 4 : 3  b. 1 : 3 : 4 

c. 4 : 3 : 1  d. 3 : 4 : 1 

5. Find compound interest on Rs. 12,600 for n = 2 years 

at r = 10% per annum compounded annually. 

mry; &.12>600> Mz;L tl;btPjk; r=10%, n = 2 

Mz;Lfs;> Mz;Lf;nfhU Kiw tl;b 

fzf;fplg;gl;lhy;> $l;L tl;biaf; fhz;f. 

a. 15,246 b. 2,466  c. 2,646  d. 1,386 

6. The difference between compound interest and simple 

interest for Rs.8,000 at 10% per year for 2 years is\ 

&.8>000f;F 10% tl;b tPjk; Mz;bw;F vdpy; 2 

Mz;Lfspy; $l;L tl;bf;;Fk; jdp tl;bf;Fk; 

cs;s tpj;jpahrk; 

a. Rs. 75  b. Rs. 80 c. Rs. 85 d. Rs.100 

7. The difference between simple interest and compound 

interest of Rs. 18,000 in 2 years is 405 then the rate of 

interest is 

&. 18>000f;F 2 tUl $l;Ltl;b kw;Wk; jdp 

tl;bapd; tpj;jpahrk; &.405 vdpy; tl;btPjk; 

vd;d? 

a. 10% b. 15%  c. 20%  d. 25% 

8. The product of Arun's age (in years) two years ago 

and his age three years from now is three less than 

thrice his present age what is his present age? 

mUzpd; jw;Nghija tajpd; %d;W klq;NfhL 

3ia fopj;jhy; fpilg;gJ mUzpd; ,uz;L 

Mz;L Ke;ija taijAk; %d;whz;Lfs; 

gpe;ija taijAk; ngUf;f fpilg;gjw;F rkk; 

vdpy; mUzpd; jw;Nghija taJ? 

a. 3  b. 4 c. 5  d. 6 

 

9. Find the value of 
30000

45983459837598375983 
 

kjpg;G fhz;f: 
30000

45983459837598375983 
 

a. 45983   b. 121966  

c. 120669   d. 121196 

10. Arithmetic mean of the values 9, 6, 7, 8, 5 and x is 8, 

then the value of x is 

9, 6, 7, 8, 5 kw;Wk; x Mfpatw;wpd; $l;L ruhrhp 8 

vdpy; xd; kjpg;G 

a. 48 b. 13  c. 15  d. 12 

11. In a certain code, ALGEBRA as BKHDCQB, then 

GEOMETRY is coded as  

,ufrpa FwpaPl;L Kiwapy; ALGEBRA vd;gij 

BKHDCQB vdf; Fwpj;jhy; GEOMETRY vd;gij 

vt;thW Fwpf;fyhk;? 

a. HDPLFUSX  b. HDPLFSSX 

c. HFPLFUSX  d. HFPLFUSZ 

12. Area of rhombus with diagonals as 6 cm and 8 cm is 

%iytpl;lq;fs; 6 nr.kP kw;Wk; 8 nr.kP nfhz;l 

rha;rJuj;jpd; gug;G 

a. 12 cm
2
 b. 18 cm

2
 c. 24 cm

2
 d. 36 cm

2
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13. What is the ratio of volume to surface area of a 

sphere? 

xU Nfhsj;jpd; fd msT kw;Wk; Gwg;gug;G 

Mfpatw;wpd; tpfpjk; vd;d? 

a. r : 3 b. 3 : r  c. 1/3 : 1 d. 1/3 : r 

14. Curved surface area of a solid sphere is 36 cm
2
. If the 

sphere is divided into two hemisphere then total 

surface area of one of its hemisphere is 

xU jplf;Nfhsj;jpd; tisg;gug;G 36 nr.kP2. 

mjid ,U miuf;Nfhsq;fshf gphpj;jhy;> xU 

miuf;Nfhsj;jpd; nkhj;jgug;G vd;d? 

a. 9 cm
2
 b., 12 cm

2
 c. 18 cm

2
 d. 27 cm

2 

 

15. (a+b)
2
 + (a-b)

2
 = 

a. 4 ab   b. 2 ab   

c. c
2
 + 2ab + b

2  
d. 2 (a

2
 + b

2
) 

 

16. What percentage of a day is 10 hours? 

xU ehspy; 10 kzp Neuk; vd;gJ vj;jid 

rjtPjk;? 

a. 4.617%   b. 46.17%  

c. 41.67%   d. 14.67% 

17. Three numbers are in the ratio 3 : 5 : 7 and their 

average is 60. Find the smallest number? 

%d;W vz;fs; 3 : 5 : 7 vd;w tpfpjj;jpy; 

cs;sd. mtw;wpd; ruhrhp 60 vdpy;> 

mt;ntz;fspy; kpfr;rpwpa vz; ahJ? 

a. 36 b. 12 c. 15  d. 48 

 

18. Find the 4
th
 proportional to 4, 16 and 7. 

4> 16 kw;Wk; 7f;F 4tJ tpfpj rkk; fhz;f. 

a. 22 b. 25 c. 28  d. 29 

 

19. If 7 : 5 is in proportion to x : 25 then x is 

7 : 5 kw;Wk; x : 25 tpfpj rkk; vdpy; xd; kjpg;G 

a. 14 b. 27 c. 35  d. 49 

20. A can do a piece of work in 10 days. While B can do 

it in 6 days. B worked at it for 4 days. How long will 

A take to finish the remaining work? 

A ஒரு வேலலலைச் 10 நாட்களில் செய்ை முடிம௃ம். B 

அலை  வேலலலை 6 நாட்களில் செய்ை முடிம௃ம். B 4 

நாட்கள் வேலல செய்ைார். மீைமுள்ள வேலலலை 

முடிக்க A எவ்ேளவு வநரம் எடுக்கும்? 

 a. 3
1

3
 days  b. 3 

2

3
 days c. 3 

2

3
 days  d. 3 

5

7
 days  

21. If 18 binders bind 900 books in 10 days, how many 

binders will be required to bind 660 books in 12 days? 
18 லைண்டர்கள் 900 புத்ைகங்கலள 10 நாட்களில் 

செய்ைால், 12 நாட்களில் 660 புத்ைகங்கலள 

செய்ேைற்கு எத்ைலை லைண்டர் வைலேப்ைடும்? 

 a. 14  b. 13 c. 22 d. 11 e. None  

 

22. The average of nine numbers is 50. The average of the 

first five numbers is 54 and that of the last three 

numbers is 52. Then the sixth number is 
ஒன்ைது எண்களின் ெராெரி 50. முைல் ஐந்து எண்களின் 

ெராெரி 54 மற்றும் கலடெி மூன்று எண்களின் ெராெரி 

52. எைில் ஆறாேது எண் 

a. 34               b. 24           c. 44              d. 30 

 
23. 100 oranges are bought at the rate  Rs. 350 and sold at the 

rate of Rs . 48 per dozen. The percentage of profit or loss is  

100 MuQ;Rg;; goq;fs; &. 350 f;Fthq;fg;gl;L> l[d; &. 
48 f;Ftpw;fg;gLfpwJ. ,jpy; yhg  (m) e\;l rjtPjk; 
vd;d? 

a) 14 
2

7 
   % gain        b)  15 % gain  

c) 14 
2

7
  % loss   d) 15% loss 

24. Two dice are thrown together and the sum of the 

digits observed comes to 10. What is the 

probability of showing 4 on one of the dice 

இரண்டு ைகலடகள் ஒன்றாக ேெீப்ைட்டு, 

கேைிக்கப்ைட்ட இலக்கங்களின் கூட்டுத்சைாலக 10. 

ைகலடகளில் ஒன்றில் 4 ஐக் காண்ைிப்ைைற்காை 

நிகழ்ைகவு என்ை? 

a) 
1

12
     b)

1

18
       c)

2

13
 d)

1

14
 e)

2

15
 

 

25. There are 15 boys and 10 girls in a class. If three 

students are selected at random, what is the 

probability that 1 girl and 2 boys are selected? 

ஒரு ேகுப்ைில் 15 ெிறுேர்களும் 10 சைண்களும் 

உள்ளைர். மூன்று மாணேர்கள் ெரீற்ற முலறைில் 

வைர்ந்சைடுக்கப்ைட்டால், 1 சைண் மற்றும் 2 ெிறுேர்கள் 

வைர்ந்சைடுக்கப்ைடுேைற்காை  நிகழ்ைகவு என்ை? 

a.1/40 b.1/2     c.21/46    d.7/41    e.None  
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Answer :  TEST  

1. A 

2. A 

3. C 

4. A 

5. C 

6. B 

7. B 

8. A 

9. B 

10. B 

11. B 

12. C 

13. A 

14. D 

15. D 

16. C 

17. A 

18. C 

19. C 

20. A 

21. D 

22. B 

23. A 

24. B 

25. C 

 


